SN sAZREN
i HHSAAH|(SAEZRE)
o2t J|=3H| (crel: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SAZQED 15,802,211 10,619,241 5,182,970
= 244,790
[ 2,927,657
= 12,629,764
HHSHAH|(SAIZERED) 30,100 26,920 3,180
BIEEET 30,100 26,920 3,180
J123H| 30,100 26,920 3,180
201 L2y 19,300 18,280 1,020
01 AF22t2lY] 16,300 15,280 1,020
OJ |2 AIR2EH| 100,000 +209! 2,000
OAFRIID| L SAt 2HEE
8,000,000 8,000
OJ|Et==2H| 1,500,000 1,500
OSLHI(REAST ALFH)
8,000 %2001%304! 4,800
02 2229 3,000 3,000 0
OoRERI S 3,000,000 3,000
202 0t 10,800 8,640 2,160
01 =203t 10,800 8,640 2,160
O220HI(SS0iI)
180,000 x5S S+ 128 10,800
HHLZ 2 (SAZERED 3,600 3,600 0
SNERSA 3,600 3,600 0
REEX=ET] 3,600 3,600 0
203 HREEH| 3,600 3,600 0
04 BA2AARETIH| 3,600 3,600 0
ORNSH2HAREXIY)|
300,0002 122 3,600
|E U 4= X 1,245,352 1,604,147 358,795
= 68,500
[ 102,530
= 1,074,322
SEXALZRI2Y 282,685 970,644 687,959
= 46,000
[ 14,200
= 202,485
R =SS RSN 2 222Y 22,860 237,840 A214,980
201 L2y 5,460 5,040 420
01 Al22t2IY| 1,500 3,840 A2,340
OsSEASTIE 2RAUHRE
1,500,000 %1 1,500
02 2229 3,960 1,200 2,760
OsSNHE E88 Z20E M3
100,0002 + 122 1,200
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SN SAERED
Hu: 22 U 45 N
P RSISARRRIES (chol m=)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OsS4a=STHE 2= 2,760
OsSUSTNE FII23
200,00024% 128 2,400
IsSA=8Y dotek 2=
30,0008 128 360
202 048l 14,400 16,800 A2,400
IERCE] 14,400 16,800 ~2,400
ORS+EYD4+H
200,000 *62!x 122 14,400
203 SR =AY 3,000 3,000 0
03 AEEAY2E=IL| 3,000 3,000
OSAEREN AlMEA
3,000,008 3,000
f sSttE 22 N 16,000 80,800 264,800
201 28t=3d| 16,000 75,300 /59,300
01 At22tel] 16,000 22,300 26,300
ORSAIENH &=, 20 d 28 =8 7
B 6,000,000 6,000
OAZSA AW o B0t R
10,000,000 10,000
L RSEESAIE 58,325 326,700 A268,375
307 2I2t01 52,000 52,000 0
02 QIZHHAAIEE X 52,000 52,000 0
OARPCEI I SSHEZESIINZAI
130,000, 0002 %40% 52,000
402 2I2HXHE201 ™ 6,325 274,700 N\268,375
01 QI X2 AL B (KFHITH) 6,325 274,700 N\268,375
OAPC It S E WX ALY
12,650, 00024 +50% 6,325
SSHEH 171,500 171,500 0
= 46,000
& 9,200
i 116,300
307 2I2+0| ™ 171,500 171,500 0
- 46,000
& 9,200
i 116,300
02 2B AEE X 171,500 171,500 0
OSSHEHIXIS A
184,000,000 *50% 92,000
= 46,000
& 9,200
i 36,800
OAPC 2V |SSHEHIXIRA
265,000,000 *30% 79,500
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SN SASFSW
Hu: 22 U 45 N
P RSISARRRIES (chol m=)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
si2 SEPIEXRASH(EH) 14,000 28,000 214,000
& 5,000
i 9,000
307 2I2+0| ™ 14,000 28,000 214,000
= 5,000
i 9,000
02 QIZHHAAIEE X 14,000 28,000 14,000
O=42 SBOPIY X5 |4
20,000,000 *70% 14,000
= 5,000
i 9,000
tesdttE +=EX13 962,667 633,503 329, 164
= 22,500
= 88,330
i 851,837
o2l AAIZOHE ORHIE K& A 79,600 9,500 70,100
& 23,880
i 55,720
308 MAIHSOIH 79,600 0 79,600
& 23,880
i 55,720
11 SIS o4HAS A 79,600 0 79,600
Ocdhel &AIY JHE OPHIEHl A&
79,600,000 79,600
= 23,880
i 55,720
stE +=E=SFHl A2AE 160,000 85,540 74,460
& 40,000
i 120,000
301 LetE2d= 160,000 85,540 74,460
& 40,000
i 120,000
14 J|Et2 = 160,000 85,540 74,460
QtldsitE =7l A&
160,000,000& 160,000
= 40,000
i 120,000
stESEFXIS XS (XHA) 411,067 316,750 94,317
301 Et2AS 411,067 316,750 94,317
14 J0IEt2d= 411,067 316,750 94,317
Otld sttt +=E=FH A&
246,750,000 246,750
O%Z ASI|EF C}25} 70,000,000 70,000
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SH: SAZERED
H: Sae P Ys
Ehel Aa AL (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 464,500
TR 6,300 4,700 1,600
= 6,300
201 LEF2 | 5,000 2,060 2,940
= 5,000
01 AFR2r2lH] 5,000 2,060 2,940
Oge2H| 5,000,000} 5.000
= 5,000
202 01t 1,300 2,640 A1,340
= 1,300
01 2LHoiH 1,300 2,640 A1,340
OLHAL ZZ 1,300,000 1,300
= 1,300
Z2HIE0| Y 22X 450 255 195
101 Q1244 450 255 195
04 JRR2ZNERS 450 255 195
OZZHIZ0| ZAIE HHH QIRAIS
150,000 *301*12 450
UHA N L e 269,450 250,000 19,450
307 2I2t0IA 250,000 250,000 0
02 BIZIZAAIIE T 250,000 250,000 0
OB 201012 2XALY
500,000, 0002 +50% 250,000
402 BIZEXH20I X 19,450 0 19,450
01 QIZFXHE AL 2 (RHHITH ) 19,450 19,450
ORPC AF2H 2II2E XI/AY
38,900, 0002 %50f% 19,450
U KIZAS 278,000 71,773 206,227
S 83,400
z 194,600
402 BIZEXHE01 X 278,000 71,773 206,227
S 83,400
z 194,600
02 BIZERHZ AN (01 M THE) 278,000 71,773 206,227
OLEAE XIFAAS 556,000, 0002 *50% 278,000
< 83,400
E‘ 194,600
HEom HAY HIE 44,000 20,000 24,000
= 44,000
206 K= Hl 44,000 20,000 24,000
= 44,000
01 M2l 44,000 20,000 24,000
OF2L= ZHM HE 44,000,0002 44,000
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SN SAZSEN
HE: A2 HM A5
Rl AN ZYARYS CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ ]] = 44,000
ZeEogc e 1,643,19% 905,776 737,420
EES R = 1,643,19% 905,776 737,420
T=SUC E20E 23t 1,643,1% 905,776 737,420
201 LBt2y| 243 1% 205,776 37,420
01 AtR2Held| 243 1% 205,776 37,420
OAIEBESERHCE SHA| Q22D 199,79
0JHQIEHA 242 . 000 *48CH* 122 139,392
OB QIEAl 220,000+ 16CH* 122 42,240
02U ZXSTHS 42
18,163,2002! 18,164
OZSBUC )| 222 22H(AF, DH)
100, 0002 *20CH 2,000
OsA2 2832 82D 26,136
o2&t 220, 0002 +9CH* 122 23,760
0EI2UZXSTHS 42
2,376,000 2,376
OCIXFO! 2HE| 1,540, 4402 *9CH 13,864
OZSBUC | Ao &t
100,0004%701%23] 1,400
301 YBHE A= 1,400,000 700,000 700,000
14 J|EIE A2 1,400,000 700,000 700,000
OAIIY BESHE TABIA X2
1,400,000,000 1,400,000
oi)el X Xl 4,698,379 944,424 3,753,955
= 28,475
[ 2,355,384
2 2,314,520
oie| X 4,237,842 944,424 3,293,418
= 28,475
[ 2,320,384
2 1,883,983
EE=EIESS 16,320 0 16,320
201 LBt2y| 1,920 1,920
01 AFR2Hel| 1,920 1,920
O=Z| 8,0002x30180A! 1,920
202 Oit| 14,400 0 14,400
NETRE 14,400 0 14,400
O%He| g2 = 200,000 *301% 122 7,200
Ostetsl iz S o4 X3
200, 00024301122 7,200
EmI=TNNEEEEY 834,860 925,898 91,038
[ 333,944
= 500,916
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SN sASFSW
M opjel M XK
el Aol X CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
308 MAIHSOIH 834,860 925,898 291,038
& 333,944
i 500,916
08 W=J[20IHE=E X 834,860 925,898 291,038
O%.£.15sm 244l X
834,860,000 834,860
= 333,944
i 500,916
sEd & stugsl X 28,643 18,526 10,117
& 12,276
[ 16,367
308 MAIHSOIH 28,643 18,526 10,117
& 12,276
i 16,367
08 W=J[20HEE X 28,643 18,526 10,117
Ozs & stm2A K
28,643,000 28,643
= 12,276
i 16,367
S ANz 2l X 196,650 0 196,650
308 AHXIEHHISOIE 196,650 0 196,650
08 WEJ|20CstEx 196,650 196,650
024 AR 7| X
45021%2,30001% 1902 196,650
ZSSSUY WA IR AIBEAIE 19,550 0 19,550
= 9,775
& 2,933
i 6,842
307 2I2+0| ™ 19,550 0 19,550
= 9,775
= 2,933
i 6,842
02 CIRIAMAIRE 19,550 0 19,550
OZXSESDA DAA K
19,550,000 19,550
= 9,775
= 2,933
i 6,842
0201y wg2tal X2 A 13,563 0 13,563
& 4,069
[ 9,494
307 2I2+0| ™ 13,563 0 13,563
& 4,069
[ 9,494
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SN SABRSD
M o B K|

£l HHel X (cHol: M)

= = . PSlE]
SA - BE - S9(30) - HRAY - BES D e imEET

=

02 QIHH&AIEE X 13,563 0 13,563

1, 1002 %27421%452] 13,563
4,069
9,494

MmN

ol Ot0l HZEAIE XIE ALY 82,656 0 82,656
9,092
73,564

M H

308 MAIHHSOIA 82,656 0 82,656
9,002
73,564

Mo

08 WSJ[20tstEx 82,656 0 82,656
O=cl o0 AZ=AIE X
7,000 *328 21 %60 *60% 82,656

9,002
73,564

MmN

FOHK GAP Y =4 K& 37,400 0 37,400
18,700
5,610
13,090

H H W

301 LEIEES 37,400 0 37,400
18,700
5,610
13,090

H H W

14 J|Et2a= 37,400 0 37,400
eISsIt et dEA HAI IR

37,400,000 37,400
18,700
5,610
13,090

H H W

GAP 215 === XI& 8,200 0 8,200
2,460
5,740

M H

301 LEEES 8,200 0 8,200
2,460
5,740

M H

14 JIEIE A2 8,200 0 8,200
OGAP 2IE =2 XI& 8,200,000 8,200
2,460
5,740

M H

HHCISEXJHE HE(HEAIY) 3,000,000 0 3,000,000
1,950,000
1,050,000

Mo

401 AlEHIZ 20| 3,000,000 0 3,000,000
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2A:

ME: o] ME K@
£Helr sSatE AOHEE 243t (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ 5,000
= 5,000
OO0l XIAAS 30,000,0002 30,000
[ 15,000
= 15,000
RAUZC H=XE 2F X 207,613 0 207,613
101 Q124H] 127,130 127,130
VBIEN I 127,130 0 127,130
OJl2s 76,960 %40 1%2552! 78,500
O=g 76,9602 x401x93 28,630
O=8s 2,600,000 %401 10,400
O E = 2,200,000 %401 8,800
ozes 1Y 200, 0008149 800
201 L2 A 70,483 0 70,483
01 AFR22IHI 43,675 0 43,675
OSOIHHIAIAL AlBZ
150, 00024 <2 A 122 3,600
O&F=)| edXts 30,600 2 Ax 122 735
OHE L AARE 7Y
200,000 %12 2,400
Oo2g=37Y 3,440,000 %201 A 6,830
OAlE =X 8,500,000 8,500
ORZUZC M=2XH AFN NS LA
500,0004x23] 1,000
ORZUZC H=ZEH 22U 24
70,0002 %401x23] 560
ORZZC 210|BHHA =&
10,000,000 x23] 20,000
02 2229 14,808 0 14,808
O22e= u=7 7,404, 0002 %2JH A 14,808
03 SAHR2ZH| 12,000 0 12,000
OSTA =& 3,000,000 x2JH A *23] 12,000
301 YRHEAS 10,000 0 10,000
14 JIEI2AS 10,000 0 10,000
QHlo|EH OIHE =& 10,000,000 10,000
AR DIARE 29 X2 87,424 87,424
101 Q124 10,824 10,824
M IIHR2R2IEES 10,824 0 10,824
opll==" 76,9604 101x120 9,236
Oo=g 76,9602 150%+ 1 Q1% 12 1,386
Ok=t= 1 201,8002%10l 202
201 L2 A 51,600 51,600
01 AFRZH2IHI 40,000 0 40,000
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2A:

ma: opfel M KW
£Helr sSatE AOHEE 243t (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OSEEIA 28 2HEE 7Y
5,000,00024%53] 25,000
OZ=2l4=4&H 13,000,000 * 14 A 13,000
O=gtl 8,000 %2501x 104! 2,000
02 222YH| 3,600 0 3,600
OssksE? 300,0002 % 14 Ax 122 3,600
03 SAH2ZH| 8,000 0 8,000
OSHeA =8 2,000,000 14 A43] 8,000
301 LBtEXS 15,000 15,000
14 DBt A2 15,000 0 15,000
QHIOIEY O|IE =& 7.500,00020%23] 15,000
401 Al&H| 2 S| 10,000 0 10,000
01 Al&H] 10,000 10,000
OAl£3H| 10,000,000 *1JH A 10,000
SAZ0PIE ALY 1,085, 167 1,240,542 A155,375
OB AL 1,085, 167 1,240,542 A155,375
IEERES 10,960 13,920 12,960
201 LB A 2,560 1,920 640
01 AFR2t2IHI 2,560 1,920 640
OSZHI(MAHATSAREZI)
8,000 *4 215804 2,560
202 04H| 8,400 12,000 3,600
01 2LH0IH 8,400 12,000 3,600
OMAIHATIS D48
150,000 #4011 122 7,200
OUZHY &8 L =522 =X
100,000 101x 122 1,200
EERSE 196,337 222,308 A25,971
101 Q1244 138,735 165,125 A26,390
02 JIEFRIE 2 75,393 75,140 253
OAIZFSE R D[R 75,393
0DIN9= JIEa 25,832, 0002I%201 51,664
02JIHI9=2 Huei= 2,924, 04024201 5,849
OAIRIIZR 4L
9, 1602 *201x36 A 2t 122 7,915
OAIZHE BRI =S 103,320 %201% 122 2,480
(pJ=Sl= 2,880
o B2t 40,0002 +201x 122 960
0 JIEPIE 20,0002 #201% 12 480
o =MAXHA 60,000 *201x 122 1,440
0FAHZAH| 140,000 *201% 122 3,360
02 4| 7, 4052 %201x84A| 2+ 1,245
04 JIZHHI2 RIS 63,342 89,985 126,643
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2N SAERSH
HI: SAS0HEAY
=l OPIE AL (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OtIFAZE 29 57,185
00123 76,9602 %201%2492! 38,327
0FXtg 76,9602 %201 %502 8,004
0AXt =S 76,960R%201x7L 1,078
0201012 47,409,0002 %4 5% 2,134
0HZEE 47,409,0002%3.545% 1,681
0FIRSEES 1,681,000&%12.81% 216
01EEE 47,409,000 % 1. 75% 830
0CHHEE 47,409,0002! * 1% 475
EESE= 2,220,0002%201 4,440
OSEHA(SEE, =H) 2124
76,9602 %401 x52%4 3] 6,157
201 LBH29H| 49,680 49,680
01 AlR2:2|H] 960 960 0
OJ|ZSAIRE 3| 80,000 122 960
02 2229 48,720 48,720 0
OMAFATIZS YAOIE X122/
2,000,0002* 12 24,000
Oosms g5 1,500,000+ 122 18,000
O=EE ¢ QWS
500,000 %12 6.000
OLNBNHEE Sz 60,0002 12 720
204 B4 AH| 4,305 4,095 210
02 ZZEXH| 3,255 3,045 210
OAIZHAE T 2D [HI(8~92)
135,6202%201x 122 3,255
03 SHLRHHI 1,050 1,050 0
OAIRHSEIH 2D (X CHRI&HEH|
43, 75094201 %128 1,050
304 ASRH2S 3,617 3,408 209
ELIEEEEE] 2,951 2,742 209
OAIZMIEH DK RRIHALE IS
= 73,898,0002%3.545% 2,620
OAIZHSEIH 2DIH BIIQUYLE IS
= 2,583,0002%12.81% 331
04 2R (RIIHA) 22X LEBRHS S 666 666 0
OAIZHEER 2D IH D2EE IS
73,898,00021%0. %% 666
4TS L BHX 25 54,120 51,640 2,480
201 LBH29H| 12,120 9,640 2,480
01 AlR2t2|H| 12,120 9,640 2,480
OAIZATE 2H(RA3| SALY
100,00024%901%43 3,600
o220l & i & IIERA KR
300,00021%203 6,000

- 881 -




2 SAERSD
HM: SMSO0BHIE ALY
=l OPIE AL (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O=8= CIXe! H&E olgz
70,0003 A 123] 2,520
207 SN 42,000 42,000 0
02 HADREH 42,000 42,000
OLUEME ANHOIX M=
600,000 %7024 42,000
AREHE RE2Y 143,000 141,800 1,200
201 L2 A 143,000 141,800 1,200
01 AFR22IHI 120,000 120,000 0
ORQED 2 70,000
0RHZAL Z204M
20,000,000 *23] 40,000
0AOIEAEN 20,000,000 % 14! 20,000
0219t 10,000,000 * 1A 10,000
ORRENE 29 50,000
02ho1ExHHA 40,000,000 %14l 40,000
S 10,000,00024x14! 10,000
02 222 23,000 21,800 1,200
OIptie 2% 22l 23,000
ONEHZEZ202 AE2
500,000 %43 2,000
0IPIRIHE EB NAIK Ls2
350,0002%53]x 122 21,000
e =2 280,840 156,840 124,000
201 L2 A 278,880 154,880 124,000
01 AFR22IHI 278,880 154,880 124,000
O/ ATIZS U QEIHY O|ME JH
8,500,0002 %203 170,000
OclZ8! H& 1,0002%10,0008 10,000
OEL JIEE N& 2
3,00024*5, 000 15,000
OAE EBMI} M (M, F=4A)
5,000,0002 %23 10,000
OLges HIE 1,00020%5, 0005 5,000
OoAHE =2 10,000,000 %13] 10,000
OH=E=E 722 500,000 12& 6,000
OSZH|(MAIHATIZ OIHIE ZX)
8,000 %301x10A!x 12 2,880
ORSAMELEXI
50,000,0002* 14! 50,000
301 LBEXSZ 1,960 1,960
11 BAFAHIXIRZ 1,960 1,960
OOBPIgEE L SHHEAL &4
30,0002 %401 %22 *4 3] 960
oople szns 50,00024%1001%23] 1,000
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SN SAZRSD
M SAS0PE AR
o2l DHEAIEALS (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
EERE 399,910 340,600 59,310
201 LBr29y] 54,910 60,600 25,600
01 ArRZe 54,910 60,600 25,600
OUYET OIE D] 2,000
02X DS 1,000,00024%23] 2,000
OUTHIZ AHEL2AL AlA|
200,000 * 1074123 24,000
OUFHE s S SLIEHE AAl
500,000 *63] 3,000
OE28 AE3H L HOIZ M
7.,000,00021% 14! 7,000
OZ2E SIS MR
502%30,00058*23] 3,000
ORH0INE TR HE
10,000, 0002141 10,000
O MOIL L SEMDALS|
300,000 *401x33] 3,600
ODHIY A AIZIALZ R (AFReX]) BHOHCHE
29 28 300,000, 00024%0. 7% 2,310
301 YR H2 260,000 260,000
14 J[EISA2 260,000 260,000
OMAIFATIS A HiH| X2
2,5002*104,00021 260,000
307 QI2H0| X 70,000 20,000 50,000
02 DIRIAAAIRIE X 50,000 20,000 30,000
ORZ5} EhlerA RIR
100,000, 0002 *50% 50,000
12 QI2toI9 et IR 20,000 0 20,000
OURX DIE 23t DS
20,000,00024* 174 4 20,000
308 KIXISHHSO0I& 15,000 15,000
11 21 2SOl HEH-E AR I ETAL ] 15,000 15,000
ORHIY AFRAIZIAIZRI (A EeX]) 2Ol B8
= 300,000, 0002 *5% 15,000
SEMETIRAAL 820,079 974,864 154,785
2 9,025
= 148,760
= 662,294
SETRAAL 156,479 552,944 396,465
2 7,025
[ 2,700
= 146,754
SEXAANLEA 9,120 9,120
201 LB Ay 1,920 0 1,920
01 At22relt] 1,920 0 1,920
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2A: SAEREDR
HM: SEMSTRAAY
©?Hel: SEXAEAS CEEEN
A - BE - BRI(E) - KIRA - BAS ofl e Gl imE=T
CEEEIECSEEEES))
8,0002*321+80 1,920
202 Ot 7,200 0 7,200
ENGE 7,200 7,200
OsENALREX
20,0002%321x103]* 122 7,200
MESFIHE Y 2 81,709 87,944 6,235
101 Q124H] 37,407 32,201 5,206
03 2RE(RI|HL) 22XE 2 37,407 32,201 5,206
OMS25HER 2 37,407
0122 2,506,57424x101x 128 31,189
0HREATY 170,00084121x123] 2,040
0IESLY 120,000 %101+ 122 1,440
0¥ E=OH| 2,306,574 %60%*23] 2,768
201 L2 37,800 49,800 12,000
01 AF222IHI 7,800 13,800 6,000
OMS25 22 29| 7,800,000 7,800
02 2229 30,000 36,000 26,000
OMES25 M8 Q| 414 ALK
30,000,000 30,000
304 SI3RY2S 6,502 5,943 559
04 2RE(RI|HL) 22X LE2RY2 S 6,502 613 5,889
OZRA N AHHESE J|2ed=2 913
01E=ZSH 33,199,000 %1.75% 581
0&HHEE 33,199,000 1% 332
OZRZ =20I0i3 I3 4,261
0=0I3 33,199,000 %4 . 5% 1,494
0EI=IZ 33,199,0002x1/12 2,767
OZPE ZQIHALE J |22 1,328
0HSEE 33, 199,00024+3.545% 1,177
0Z)| QLS 1,177,0002%12.81% 151
Crst Q22 &2 1| 7,050 6,000 1,050
= 3,525
= 3,525
201 L2 A 1,134 2,000 A866
= 567
= 567
01 AF222IHI 1,134 2,000 1866
OCt2st Q2 S2NS ALY
378,0002 %33 1,134
= 567
= 567
206 THEH] 5,916 4,000 1,916
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2N sHEZRSH
M SEMBTRAY
ol SENEAS CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 2,958
[ia 2,958
01 M=l 5,916 4,000 1,916
OCIgst 2o/ 28NS ASHE
1,479,000& +42] 5,916
= 2,958
[ia 2,958
sE22Eds) 23,600 27,800 A4,200
301 LEHEES 3,600 1,600 2,000
11 HAIAHIXE S 3,600 1,600 2,000
OsE2Z 994 L #AF &4
30,0003 +6021+23] 3,600
307 212+0|& 20,000 20,000 0
02 QIHH&AIEE X 20,000 0 20,000
OsEa&¢ 7l 2435t
20,000,000 20,000
SHY THoltle tddls S 5,000 0 5,000
= 1,500
[ia 3,500
201 ZEH= | 2,000 0 2,000
= 600
[ia 1,400
01 AlR-2teld 2,000 0 2,000
OHMNF ZAIZ 2,000,000 10 A 2,000
< 600
[ia 1,400
206 M=l 3,000 0 3,000
= 900
[ia 2,100
01 =4l 3,000 0 3,000
Oetd= TH=H| 3,000,000 %1JHA 3,000
= 900
[ia 2,100
SENY =8 d=258 e 4,000 0 4,000
< 1,200
[ia 2,800
201 LBt2 3| 1,000 1,000
01 AtR2telH] 1,000 1,000
OsENE S=8 dEs" MY
500, 000& *23! 1,000
301 LEEES 3,000 0 3,000
= 1,200
[ia 1,800

_885_




M SAEZERSH
MY SEMSARAY
ol SENEAS (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
IEERES 3,000 0 3,000
OsEX2 828 Mesz Ny
1,500,000& %23 3,000
[ 1,200
= 1,800
MERA0 S22 19,000 40,000 21,000
201 L2 11,500 23,500 A12,000
01 AF22t2IH] 11,500 23,500 A12,000
MERIN J|EDS LAY
1,000,000 %103} 10,000
OMERI0| J20Ss ARE 7Y
750,000 «2 0+ 1,500
206 TH2H| 7,500 16,500 9,000
01 W24 7,500 16,500 9,000
OMER0| J12ns W27
30,00024%2501%103] 7,500
METCAHSENSLIH) FEWS 7,000 0 7,000
= 3,500
= 3,500
201 LEr=2AY| 3,500 0 3,500
= 1,750
= 1,750
01 AF22teit| 3,500 0 3,500
OsZE04 A3 WS
875,000 %43 3,500
= 1,750
= 1,750
301 LpHERZ 3,500 0 3,500
= 1,750
= 1,750
11 S#ALAHIXI 2 3,500 0 3,500
OsZ04 A gat N
875,000 %43 3,500
= 1,750
= 1,750
NESIEINEE! 129,600 421,920 A292,320
= 2,000
[ 12,060
= 115,540
SE204 |4 2Y 79,800 73,920 5,880
201 LEr2Y| 30,000 16,920 13,080
01 AF22t2it| 30,000 16,920 13,080
OsENE20F 18 2AE
375,00024%803 30,000
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2A: SAEREDR
HM: SEMSTRAAY
SR MED|=AIY (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
206 M=l 40,800 40,800
01 XHEH] 40,800 40,800
O=sZME25 02 a7
2,700,000 %970 H A 24,300
SERCINE WS e
1,500,0002 %63 9,000
OSHMEINMS WML
500,0008%113] 5,500
O ¥ 2 s=XY £H3| a7
200,0002*10Z 2,000
301 LBtEE3 9,000 9,000 0
EEREE 9,000 9,000
OSENA20F NS L AL &4
450,0002%203] 9,000
MEDIAS| HEX| 23 16,800 21,000 A4,200
[ 3,360
= 13,440
201 LEH2 A 16,800 21,000 A4,200
[ 3,360
= 13,440
01 AF222IHI 16,800 21,000 24,200
OMEDHNE| HEX 23
60,0002 %2805 16,800
[ 3,360
= 13,440
E2Y =0 o0 F 24 4,000 4,000 0
= 2,000
= 2,000
206 M=l 4,000 4,000 0
= 2,000
= 2,000
01 XHEH] 4,000 4,000 0
OE=Y sYI7s| WS Hat
1,000,000 %43 4,000
= 2,000
= 2,000
SEHEI2 SIS Al 24,000 0 24,000
[ 7,200
= 16,800
307 2I2H0| & 10,000 0 10,000
[ 3,000
= 7,000
02 QIFAAAIIE R 10,000 0 10,000
OXZ2ME T272 Y L 29
10,000,000 10,000
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S SAZRSD
M SEMETAAY
ol EDISAY CEREERD
A - BE - BRI(E) - KIRA - BAS ofl e Gl imE=T
< 3,000
2 7,000
402 T RFEO0IE 14,000 14,000
= 4,200
2 9,800
02 BIRIKEARIE (01 B M) 14,000 14,000
OsZEuss%d 3 14,000,0002! 14,000
= 4,200
2 9,800
D59 ARsy Zz1g 285 A 5,000 5,000
= 1,500
2 3,500
201 LErea| 5,000 5,000
= 1,500
2 3,500
03 A2 5,000 5,000
OXRsY T2 2% X8
5,000, 0002 5,000
= 1,500
2 3,500
N NE N 534,000 534,000
= 134,000
2 400,000
SZES=e A 243 24,000 24,000
HEE XA(<HI)
= 8.000
2 16,000
307 2201 24,000 24,000
= 8.000
2 16,000
EFE=PONSEES 24,000 24,000
OsEg=aay 245 258
10,000, 0002 +47§ 2:+60% 24,000
= 8.000
2 16,000
SH2 I XA 420,000 420,000
= 126,000
2 294,000
402 QI XHEOIH 420,000 420,000
= 126,000
2 294,000
02 BIEXFEAFIEE (01 R M) 420,000 420,000
Osar2 JiBay 245 X8
700,000, 0002!60% 420,000
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SN sAESs)
NI SEMSIAA
SHel: MM (chel xi21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 126,000
= 294,000
SEAS JIZA TH XIS AL 40,000 40,000
307 2I2H0| & 40,000 40,000
02 QIZHHANAIIE I 40,000 0 40,000
O=sS42 JI2H3 Z&83M X
80,000, 00024 *50% 40,000
=9 S8 6XHAIY XIIAL 50,000 0 50,000
402 QI2EXH20|H 50,000 50,000
01 QIZFRF2 AN S R (RHRITHSY) 50,000 0 50,000
OARE SA2 JIBAN X
50,000,000 50,000
=EZA 245} 5,678,138 4,234,440 1,443,698
= 83,490
[ 237,583
= 5,352,065
=J|HAY X2 3,148,963 1,833,068 1,315,895
= 59,600
[ 237,583
= 2,851,780
S| H=342)2ns 22,000 22,000
201 LB A 3,000 3,000 0
01 AF222IHI 3,000 3,000
On=sE =J|H | 3,000,000 3,000
206 XHEH| 19,000 19,000
01 x24I 19,000 19,000
OsI|H =54218 85 2
12,000,000 12,000
OsJIH =342lg U237 7Y
2,000,000 2,000
s &3228 228 7
5,000,000 5,000
S HLUAIS AR S 2,106,958 1,162,098 944,860
101 Q124H] 204,814 133,038 71,776
02 JIEFRIE 2 79,546 0 79,546
OAIZHEIT|RI(92) 79,546
0e3 25,832,000 %201 51,664
(OPsnigec k== 2,913,000 20! 5,826
0EU2R4L
9, 160 *201x55A| 2+ 122 12,002
OAIZH RIS 103,320 %201x 122 2,480
0tEZ(HHRAL) 40,0002%201% 122 960
OE+Y M
60,0002 *201x 128 1,440
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2 SAERSD
HM: SEZA 2435}
celr SI|HAIY X (crel: 22l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0J1EH(ZHI) 20,00021#201% 122 480
0F M Z Al 140,000 #0201+ 122 3,360
094 B A 7,4002 %201 x84 A1 2¢ 1,244
04 2RISR 125,268 133,038 AT, 770
OsIIHLUAIE A 2 125,268
0ol=2 76,9602 %4Q1%240 2! 73,882
0FXtg 76,9602 %401x432! 13,238
OAIZtQ|2R4E
14,4302 %4 01380 Al 2t 21,934
(b ES= 76,96021*401x92 2,171
0=01013 87,118,720 %4 .5% 3,921
0HBEE= 87,118, 720243 .545% 3,089
0IRLEE= 3,088,360 12.81% 3%
0EEE= 87,118,7202%1.75% 1,525
L= = 87,118,7202x1% 872
0xtel= 4000002401231 3,200
00H& B2 55,0002 *401%23] 440
201 LB 110,940 92,060 18,880
01 AF222IHI 29,300 23,860 5,440
OSIIHAHAIE A SDH| (A EHA)
200, 0002 *20) A+ 122 4,800
ORQIZHIAAL S (AE, )
280,00021*20H A% 12 6,720
OsIIHALAIG A 2H5| BFalay
100, 00084 1101%23] 2,200
OACHAIZ A S2HEH U oHY 2|3 MIE
1,0002%2, 000 2,000
O=2HIE 29 0|8 $482
1,000,000 %13 1,000
OIIAHI22 Rt HERE| EAlsg
100,0002&1%3021%33 900
OYUMAIA 22|29 T2 ¢
250,000 %821x23 4,000
OS2 (SESAILREA)
8,0002 x7Q1+80A! 4,480
OZHI(SIIHAHAID A 2 AR=X)
8,00024+401% 100! 3,200
02 2229 81,640 68,200 13,440
OAAZH| SXId 66,640
0L =D 1A S 100, 00024%60CH 6,000
0AH=I 1A &I+
220,000 160CH 35,200
0AIQIRIE(5E) R
1,60024x2002| E{* 122 3,840
0=3|52IXH(3.58) K=
1,60021+2002| Ef* 122 3,840
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2 SAERSD
HHM: SESA 245
el SIIAA X3 CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OSHEATIAIE A 2HT(1E) |FH
1,60024x2002| £ 122 3,840
OAHEAUNSIIH 213 S2XS(1E) RFY
1,60021+2002| Ef* 122 3,840
01EXE RXIL2]|
100,000+ 1CH+ 122 1,200
0XAE XA KXIEH|
600, 0002 *2CH 1,200
02CHsIIH ISR XH2H3.58) |FH|
1,60024 %2002 E{* 1224 x2H 7,680
02223 15,000
0MD | (AH, SHEATIAIE &)
350,000 x204 Ax 122 8,400
0EAIZ )2 29| 250,000 * 12 3,000
0UCHAIY 22| AIAE SX|E4H]
300,000 * 12 3,600
202 04H| 16,800 12,000 4,800
01 2UH0IH 16,800 12,000 4,800
OsESAS P43
200,000 %721 128 16,800
204 Z| 24 AHH| 4,305 4,305
02 A3EXH| 3,255 0 3,255
OAIZHEER 2D (H RS2 XH|(802 AY)
135,62024x201x 122 3,255
03 SHALHI 1,050 0 1,050
OAIZHSEH AT |H CHEI 2 =H]
43,7502 %201x 12 1,050
206 XHEH| 80,000 80,000
01 XHEH] 80,000 80,000
SIOHAUAIE A 2HRH| 22 7
80, 000 *20F*505 80,000
304 HASRY2S 4,099 4,009
02 2DIAALEZ 3,346 0 3,346
OAIZHSER QDK 2IHAEE 243
83,640, 26991x3.545% 2,966
OAIZHSER QDM CQIE)|QUEE &
= 2,966,0002%12.81% 380
04 2RE(RI|H) 22N HEERYS S 753 0 753
OAIZHEER 2QOIH DEEsE
83,640, 2692 %0 P 753
401 Al&H| 2 S HY| 600,000 0 600,000
01 Al&H] 600,000 600,000
OsI|HAUNAIE A AIRB2 E=
600,000,000 * 14! 600,000
405 THAHE SH 1,086,000 845,000 241,000
01 AU SEFSH| 1,086,000 845,000 241,000
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2M: sAE
M =ESA #2435
&2l SIIHAE XIR (cHol: x2)
S - BE - 9I(3) - HRAY - BES IS Gl Hlms2t
O sIIAH 2L 800,000
0CIAZ20IRACI A
35,000,000 *4CH 140,000
0RAEHILHA 60,000,000 *4CH 240,000
I=s2=3| 30,000,000 %7CH 210,000
odII=o| 35,000,0002*4CH 140,000
OALETID| 5,000,000 *4CH 20,000
SAIY 0l 50,000,0002*1CH 50,000
Otisg sJ1H #e 146,000
o2l 3,000,000+ 1CH 3,000
0=E=I 10,000,000 *1CH 10,000
0828t 19,000,000 *1CH 19,000
0ZRIIEMIXt 30,000,000 %1CH 30,000
0SEHM=0| 19,000,000 % 1CH 19,000
O&HDIEXIIFA D | 10,000, 000& = 1CH 10,000
O=s8=3| 30,000,0002*1CH 30,000
OSIHIAHZED|(KIZ=AL) 25,000,000 % 1CH 25,000
OsJIH a8 Xt 2
70,000, 0002 *2CH 140,000
SEXE Jetx 4 (0lel, sI1HI Zet =) XIS 60,000 116,000 A56,000
== 18,000
o 42,000
405 XHAHE SH| 60,000 116,000 256,000
== 18,000
o 42,000
01 AR ESEFHSHI 60,000 116,000 256,000
Otz sYJIHSE 25 60,000
00r=&012 D] 10,000,000 10,000
& 3,000
o 7,000
0= EEE 50,000,000 50,000
== 15,000
o 35,000
SEE sI1H KA 642,335 186,000 456,335
& 192,703
o 449,632
402 SIZERHE0| A 642,335 186,000 456,335
& 192,703
o 449,632
02 QIZENEAMSE R (01X M) 642,335 186,000 456,335
O%UEE =sI1H X 642,335
0XLEE =48 =IIAH XIA(1290H)
296,680, 000& 296,680
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SN SAZSED
3. sESA 243t
el SIIAA X3 CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 89,006
[ 207,674
0DZBZ T, 0ks Mar |23 XI(28CH)
73,810,000 73,810
= 22,143
o 51,667
0l el A2D|s XI|(370H)
271,845,000 271,845
< 81,554
[ 190,291
sSIHHE WS 12,000 12,000 0
= 6,000
i 6,000
201 Let23| 2,000 0 2,000
= 1,000
i 1,000
01 At22tel] 2,000 0 2,000
OsI|H otRDS 2,000,000 2,000
= 1,000
i 1,000
202 O4H| 1,200 1,200 0
= 600
i 600
01 SUHOHI 1,200 1,200 0
OsJIH OHEDS HEXT
1,200,000 1,200
= 600
i 600
206 XH=Hl 8,800 10,800 A2,000
= 4,400
i 4,400
01 H=H] 8,800 10,800 22,000
S s = e 7Y
8,800,000 8,800
= 4,400
i 4,400
SIHSSHEA 2 9,000 20,300 211,300
= 3,600
& 1,080
i 4,320
402 BIZtAH=01 M 9,000 20,300 211,300
= 3,600
& 1,080
i 4,320
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2N sAERSH
M =ESA #2435
&2l SIIHAE XIR (cHol: x2)
S - BE - 9I(3) - HRAY - BES IS Gl Hlms2t
02 QIZEXEAMLE X (0| M) 9,000 20,300 A11,300
OsIIHSHER 23 XA
100, 0002 *90CH 9,000
= 3,600
== 1,080
i 4,320
sIHEY soIeY 288 XN& 36,670 36,670 0
== 10,800
o 25,870
301 et Z 36,670 36,670 0
== 10,800
o 25,870
14 JIEtE2 4 36,670 36,670 0
OsIAH A& 36,670,0002 36,670
== 10,800
o 25,870
0IE23s8 sIIHE2ED NJAAY 160,000 0 160,000
402 RIZHXHE01H 160,000 0 160,000
01 QIZEXH=2 A B2 (XERITHE) 160,000 160,000
Olts 25 =71 22&0 44X XA
160,000,000 *15 160,000
CSERSSINHIZINHXKIRA 100,000 278,000 A178,000
= 50,000
== 15,000
i 35,000
301 LBEAEZ 100,000 278,000 A178,000
= 50,000
== 15,000
i 35,000
14 JIEI242 100,000 278,000 A178,000
Ok SeJIH DIMSA M2 X
100,000,000& 100,000
= 50,000
== 15,000
o 35,000
sE SAF 2435 2,529,175 2,401,372 127,803
= 28,890
o 2,500,285
120K SAE 29 3,600 3,600 0
201 23| 1,200 1,200 0
01 At22telt| 1,200 1,200 0
O120 A SAEI2E MRES S 7Y
100,000&*123] 1,200
202 0441 2,400 2,400 0
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2 SAERSD
HM: ESA 2435
Hel: SE SAH 2dst (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 =LH0IH 2,400 2,400 0
O120X A2 29
100,000 %201 122 2,400
120XIAEAE 2AES XY 29,600 29,600
201 L2 A 4,000 4,000
01 AFR22IHI 4,000 4,000 0
O120%=3| 2 AF ZAME HIZ
30,00024+1021103] 3,000
O120 K+ 2 AF 500AI12F QISTH HIZ
500,000+ 17K 500
O120KHA S AFRE ZHAHH HI=
100,000 %591 500
206 XHEH] 15,400 15,400 0
01 XH2H] 15,400 15,400 0
O120K A HE 2 15,400
0IIEMESR 22 1Y
200,000 %113 2,200
0tALH| S| BE 7Y
100,0004% 113 1,100
00l - DIE=EA HHE 2
100,0002%113] 1,100
0FI 1Ll HE 2
100,0004% 113 1,100
0z ME e 2
300,000 113 3,300
0E22, =244 W2 P
100,0002%113] 1,100
OMEI0IZTZ| HE 2
100,000 *4Z+ 113 4,400
0JIEF 27 & g 7
100,000 113 1,100
301 YEHEAS 10,200 10,200
11 BAFAIHIXI 22 10,200 10,200 0
O120XH 2 A BIIEDE| ZA]
15,0002%359! 525
O120XAZ AKX =3 SARS &4
15,0004%2501x113] 4,125
O120 Kt S ALR} 24ELS] &4
15,0001%3501x23] 1,050
O120KHA S AR HEIX] 25
150,0002/%302! 4,500
RS L Eots AX| - 22 2,447,825 2,368,172 79,653
201 L2 A 427,525 391,172 36,353
02 2229 427,525 391,172 36,353
O2222 2 HMAl 424,166
DIRE, 2os MRS
23,000,000+ 122 276,000
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2N SAEZQED
HH: SESA 2435
Pl SE SAL 243 (crol: ®al)
- _ . PSLE]
2AM -3 . H2(3H) - MRAEY - BES Oll AFoH Oﬁﬂi Hns2
0IIRS, SOt AUISIAATHAIAL S
U= 3,0002%9307 A * 122 33,480
0IRE, BOIS MalRe| L DI S
2= 60,0002 * 128 720
0IIRS, EOIS FAIRZIAIAE QIHUR
= 110,000 % 122 1,320
0IIRE, BOIE 88 HEAILRHZ
270, 60024 %2007 A 54,120
02 XE OHEEICkaaE
48,7002 * 18070 A 8,766
0IIRE QoHEZEICkaaE
8,20024*1,7007H 4 13,940
0E0tS QMM ZEICkaaE
19,90024% 1,800 A 35,820
OJIRE 2 20tS B2 S 3,359
Ot h 1,85024+812|E{+ 12 1,79
OXt&=4| 130, 0002 %1 CH* 122 1,560
206 M2 192,300 192,000 300
ED] 192,300 192,000 300
OJzE, Bots SXE4 I 72 192,300
0IRE st NEMOI| 2L
1,650, 00024 *20H 33,000
0EOIS okutst NISEYD| 2¢
180, 00024 *300H 54,000
0E0HS 2kutsk AAIRHSH I 2L
1,400, 000241574 21,000
0JI2E LEDED IR ¢
350, 0002/ *58H 20,300
0E0HS LEDRHE 1 90,00024*600H 54,000
0J1Et XHXH =& 10,000,000/ %1 A! 10,000
401 Al4H| 22 0HY| 1,758,000 1,785,000 A27,000
01 Al&H 1,758,000 1,785,000 A27,000
OIIBE, 2os RXEL S
150,000 %2, 00024 300,000
OB Al - 0|4 2 DAY 618,000
OAHRIS Ab- BlEH| OIS Al- 0l 2 WX
SAt 1,500, 0002 #2574 A %23 75,000
OXIZIT! Ab- BIEH)| OIS Al - 0|4 2 WX
= 1,500, 000 * 154 A 23] 45,000
025 A - 5lEH| HOIS Al - 0|4 2 WX
SAH 1,500, 000 * 154 Ax23] 45,000
OMZEDH Ab - BIEH)| OIS Al- 0l 2 WX
SAt 1,500, 00024 * 157 A#23] 45,000
02 AT A - 5lEH| 2oIS Al - 0l& 2 WX
SAt 1,500, 00024 %2074 A 23 60,000
OAFEITY Ab - BIEH)| OIS Al - 0|4 2 WX
SAt 1,500, 00024 * 157 A#23] 45,000
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SN SAEZRED
MM SEZA B
C2: == SAH 2435} EEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
ONZO AF - olBH)| Bots Al- 012 & WAl
SA 1,500, 0002 %25 A*23 75,000
OCHAEH AL - BHEH)| BOIS Al - 0l& Y R
SAE 1,500,000 21%2571 A #23] 75,000
QAIOHH Ab . 5lEH)| 2OIS Al - 0]& 2 W
SAt 1,500, 00024 * 157 A#23] 45,000
OMH|ZFH A - BIEH| OIS Al - 0|8 2 1
HIB Ak 1,500, 00024 * 120 A*23 36,000
QAISH Al - 5lEH)| BOtS Al - 0l& Y R
SAE 1,500,000 % 1274 A#23] 36,000
04t - BHBI)| BOIS 212 Al - 014 2 D2
At 1,500,000 % 1274 A#23] 36,000
ONZE AlLAL 640,000
0280 UE[IS MM (HYTR) IH2S
EXIBA 5,000, 000241374 A 65,000
0250 AEZENI2-HEM RS HX2
At 2,000, 000243574 A 70,000
QMEN NSNS YR IIRE A
L 5,000,000 * 1674 A 80,000
OMED LSOIS-SEM A2l JIRE &
L 2,000,0002%3574 A 70,000
02K ASAB II2S HXITA
5,000, 0002 *9IH A 45,000
OAIZD SAIOIS A2 DI2S MXIZAL
5,000,000 % 1574 A 75,000
OAIEE 231012 MMZ(HYLER) RS
AEXISA 5,000,000 %154 A 75,000
0AIOHH HBIOIS ~ SAREADA JI2E
A XISA 2,000,000 %154 A 30,000
OMHIZFT CIF DR JI2S AXITAL
5,000, 0002 %2074 A 100,000
OMHIZHB REIOIZ o JIRS AR ZA
2,000,0002* 15I4 A 30,000
L5 JI2S WHAMY 120,000
OAIZE 51012 =& JI2S WH2AF
3,000,000 %3074 A 90,000
02M Xsl0lS L 5II2S WHIZA
3,000,0002* 1074 A 30,000
OJIZE, BOS BHEBAIA 2 80,000
OFDIQHEBAL QHMAICH 2XBIAIL 4D
At 100, 0002 *2007H A 23] 40,000
OFDIQHMBAL HI|HZ SXSAL 42
At 100, 0002 *2007H A +23] 40,000
405 XHAHE S| 70,000 70,000
01 AU SZF S| 70,000 70,000
OJlz(EohE |XELx i 7
70,000, 0002 % 14! 70,000
CERXUMY| AAFY olmp 1= 48,150 48,150
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2AM:
X{XH -
o /e

cH):

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T

= 28,890
[ 19,260

401 AIZHIZL S0 48,150 48,150
= 28,890
[ 19,260

01 Al&H] 48,150 48,150

OS2EYAY| AAFY olmet 2=

48,150,000 48,150
= 28,890
i 19,260
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